mathrm a'N

Rivet 3.1.10, = 2.1M events

400

m d N
e

£200
©

x1g000 GeV pp Z+Jet

_g4()() ¥ -~ ' - T - 1 T 1 T 1 T T T 1 1]
o — ]
%200 il Groomed thrust)\_Zl(CMSjet substructure) 7
s F = cwms e
gOOO — —— Pythia 8.308 default ]
:E;ESOO — —— Pythia 8.308 default-noFsr s
c — —— Pythia 8.308 default-noRap ]
45500 [— —
° r .
§400 [— -
= - ]
2200 [ —
o~ [ ]
3000 _j— ]
E r -
=800 [ ]
g N _|
=600 [ —

|:

=

Ratio to CMS
[N

0.5

m

p)
ok | I T T T

]

'0.5'|'||'|'1
groomed thrust

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


